بسم الله الرحمن الرحيم 

A- هذه اسئلة ايندوكراين الى اخر موضوع داخل في الاختبار ، وآخر صفحة فيها عن 

 Acid base balance  
 وقد قام بمراجعتها د/ طارق مشكورا     

و هناك موضوع في المنتدى للاستفسارات 

Must answer before exam 

     واتمنى التوفيق للجميع

Dr. Abdullah Z
1- regarding hormone Receptors probability  : 
A- Increase No. Of hormone will increase receptors 

B- Increase No. Of hormone will have no effect on receptors 

C- Increase No. Of hormones will decrease receptors 

D- Hormones have no effect on receptors 

E- None of above 

2- which of the following contain high level of hypothalamic hormones 
B- Thyroid 

C- Suprarenal 

D- Pituitary 

E- Renal 

F- There is no hypothalamic hormones 

3- which of the following secrets hormones 

A- Thyroid 

B- Pituitary 

C- Right atrium 

D-  A and B 

E- All the above 

4- which of the following hormones doesn’t have an effect in growth                                             
A- insulin 

B- growth hormones

C- thyroid 

D- prolactin

E- testitgrone

5- which of the following stimulates Growth hormone secretion 

A- hyperglycemia 

B- hypoglycemia 

C- increase free fatty acid in blood 

D- pro-longed cortisol 

 E- somatostatin

	Q
	1
	2
	3
	4
	5

	A
	C
	C
	E
	D
	B


6-Regarding growth hormone deficiency 

 A-increase hGH in children will lead to dwarfism 

 B-decrease hGH in children will lead to gigantism 

 C-increase hGH in adults will lead to acromegaly 

 D-decrease hGH in adults will cause hyperglycemia 

E- None of above

7-which of the following decrease Oxytocin secretion 

A- Distinction of the uterus 

B- Pain 

C- Fear 

D- All are correct 

E- None is correct 

8-which of the following isn’t a result of ADH secretion deficiency  

A- polyuria 

B-polydipisa 

C-diabetes insipidus

D-decreases plasma osmolarty 

E-none of above
9- which of the following stimulate ADH hormone secretion 

 A-hypervolemia 

 B-decrease ECF

 C-high blood pressure 

 D-decrease plasma osmolarty  

E-none is coorect 

10-regarding  Prolactin hormone choose the incorrect statement
A- it has action in breast development 

B- it has action in milk production 

C- it has an action in milk ejection 

D- sucking is a factor that can control it 

E- A and B 
	Q
	6
	7
	8
	9
	10

	A
	C
	C
	D
	E
	C


11-which of the following is not secreted via anterior pituitary Gland 

A- ADH

B- TSH

C- Growth hormone

D- FSH

E- LH

12- As TSH is secreted which of the following is not a result 
A- The thyroid will start forming thyroglobulin in the follicle 

B- Increase iodide pump  

C- Endocytosis of the colloid  

D- Follicles absorb DIT  

E- None is correct  
13-which of the following is the most secreted hormone   

A- T4 (thyroxine)

B- T3
C- MIT

D- DIT

E- None of above

14-Which of the following is the most active thyroid hormone 

A- DIT

B- T4 (thyroxine) 

C- MIT

D- T3
E- None of above 

15-the colloid is made mainly of 

A- Ca

B- MIT

C- DIT

D- K

E- Thyroglobin 

	Q
	11
	12
	13
	14
	15

	A
	A
	D
	A
	D
	E


16- regarding the regulation of thyroid secretion :
A- T4 & T3 will have a positive feed-back on the hypothalamus 

B- T4 & T3 will have a negative feed-back on the anterior pituitary 

C- T4 & T3 will have a negative feed-back on the posterior pituitary 

D- T4 & T3 will have a negative feed-back on the thyroid 

E- T3 & T4 will have a positive feed-back on the thyroid

17-regarding factors controlling ADH 

 A-pain will ↑ ADH

 B- alcohol will↑ ADH

 C-aging will   ↓ ADH

 D-↓ Blood pressure will ↓ ADH

F- none of above

18- regarding primary hyperthyroidism 

A- decrease  of T4 but increase in T3
B- increase Heart rate 

C- it will have positive effect on TSH and TRH

D- decrease appetite and weight 

E- none is correct

19- considering hGH and thyroid hormones choose the correct 
A- hGH lead to hyperglycemia  but thyroid lead to hypoglycemia

B- hGH lead to hypoglycemia but thyroid lead to hyperglycemia

C- both hGH and thyroid hormones lead to hyperglycemia

D- both hGH and thyroid hormones lead to hypoglycemia 

E- none is correct

20-prolong sleeping is due to :

A- primary hyperthyroidism

B- secondary hyperthyroidism

C- hGH

D- hypothyroidism

E- ADH

	Q
	16
	17
	18
	19
	20

	A
	B
	E
	B
	E
	D
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Acid-Base Balance

1- concerning acid-base balance choose the correct statement 

A- increase Pco2 + increase Hco3 lead to normal PH

B- decrease Pco2+deacrease Hco3 lead to normal PH

C- decrease Pco2+increase Hco3 lead to increase PH

D- increase Pco2 +decrease Hco3 lead to decrease PH

E- all are correct 

2-regarding renal mechanism in acid-base balance 

 A-increase Pco2 will increase Hco3 reabsorbion 

 B- increase Pco2 will increase Hco3 ex-secretion 

 C-increase Pco2 will decrease Hco3 filtration 

 D- decrease Pco2 will increase filtration

 E-all are correct  

3-regarding acid-base balance disorders 

respiratory acidosis will increase ventilation 

respiratory alkalosis will decrease Hco3 secretion 

metabolic alkalosis will decrease Hco3 secretion 

metabolic acidosis will increase Hco3 reabsorbion 

G- none is correct 

23- which one of the following work inside the cell 
Protein system (didn’t choose it coz It doesn’t work in the ICF
F- Bicarbonate system (didn’t choose coz it’s in ECF
G- Phosphate system 

All work inside the cell 

H- None of above

22- regarding a person with respiratory acidosis
A- He will hyperventilate 

B- Pco2 will increase 

C- PH will decrease 

D- Kidneys will secret H 
E- All are correct

	Q
	1
	2
	3
	23
	22

	A
	E
	A
	D
	C
	A


